COST FOR LEE'S SUMMIT SOCCER COMPLEX

ltem No.	Description	Unit Total
1	West Parking Lot	\$867,379.75
2	South Parking Lot	\$261,053.43
3	Field Complex	\$2,064,212.97
	Sub Total	\$3,192,646.14
	Engineering (10%)	\$319,264.61
	Contingency (15%)	\$478,896.92
	Total Coat	\$2,000,907,69
	Total Cost	\$3,990,807.68



9801RennerBoulevard Lenexa, Kansas66219 913.492.0400 www.gbateam.com

West Parking Lot

ltem No.	Description	Unit	Approx. Unit Quantity	Unit Price	Unit Total
1	Asphalt Concrete Surface Surface (2")	SY	17,418	\$8.00	\$139,344.00
2	Asphalt Concrete Base Course (6")	SY	9,618	\$31.00	\$298,158.00
3	Asphalt Concrete Base Course (4")	SY	7,800	\$20.00	\$156,000.00
4	Concrete Paving (6")	SY	241	\$65.00	\$15,665.00
5	Flyash Modified Subgrade	SY	18,346	\$6.00	\$110,078.67
6	Concrete Curb and Gutter (Type "B")	LF	5,946	\$16.00	\$95,136.00
7	Concrete Sidewalk	SF	1,857	\$6.75	\$12,534.75
8	ADA Ramp	EA	2	\$1,500.00	\$3,000.00
9	Pavement Marking (4" white)	LF	8,346	\$2.50	\$20,865.00
10	Erosion Control (2%)				\$16,598.33
	Total Cost				\$867,379.75



9801RennerBoulevard Lenexa,Kansas66219 913.492.0400 www.gbateam.com

South Parking Lot

ltem No.	Description	Unit	Approx. Unit Quantity	Unit Price	Unit Total
1	Asphalt Concrete Surface Course(2")	SY	5,041	\$8.00	\$40,328.00
2	Asphalt Concrete Base Course (6")	SY	2,091	\$31.00	\$64,821.00
3	Asphalt Concrete Base Course (4")	SY	2,950	\$20.00	\$59,000.00
4	Concrete Paving (6")	SY	47	\$65.00	\$3,055.00
5	Flyash modified subgrade	SY	5,762	\$6.50	\$37,453.00
6	Concrete Curb and Gutter (Type "B")	LF	1,999	\$16.00	\$31,984.00
7	Concrete Sidewalk	SF	586	\$6.75	\$3,955.50
8	ADA Ramp	EA	5	\$1,500.00	\$7,500.00
9	Pavement Marking (4" white)	LF	3,198	\$2.50	\$7,995.00
10	Erosion Control (2%)				\$4,961.93
	Total Cost				\$261,053.43

GBA architects engineers

9801RennerBoulevard Lenexa,Kansas66219 9 1 3 . 4 9 2 . 0 4 0 0 w w w . g b a t e a m . c o m

Field Complex

ltem No.	Description	Unit	Approx. Unit Quantity	Unit Price	Unit Total
1	Concrete Sidewalk	SF	26,049	\$6.75	\$175,830.75
2	C900 PVC Water Line (6")	LF	5,323	\$110.00	\$585,530.00
3	Copper Water Line (1.5")	LF	197	\$75.00	\$14,775.00
4	HDPE Water Line (4")	LF	197	\$85.00	\$16,745.00
5	Fire Hydrant Assembly	EA	4	\$3,500.00	\$14,000.00
6	Water Meter	EA	1	\$10,000.00	\$10,000.00
7	Backflow Preventer	EA	1	\$10,000.00	\$10,000.00
8	Sanitary Grease Interceptor (2,000 gal)	EA	2	\$5,000.00	\$10,000.00
9	Sanitary Service Line (6" SDR26 PVC)	LF	75	\$85.00	\$6,375.00
10	Cast-In-Place Retaining Wall (square foot of wall face)	SF	6,807	\$120.00	\$816,840.00
11	Limestone Block Planter Wall (square foot of wall face)	SF	8,642	\$45.00	\$388,890.00
12	Erosion Control (2%)				\$15,227.22
	Total Cost				\$2,064,212.97



9801 Renner Boulevard Lenexa, Kansas66219 9 1 3 . 4 9 2 . 0 4 0 0 www.gbateam.com